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1.(A) Explain why a fﬁp;caf magn'ri'mie response of on amph'ﬁ‘er hos a lower

3 4B and. a r.tﬂoer 3 4B -Frgﬁﬂerlf;ﬂﬁ ? (5% )

(8) Let Vo = Vpp, Vor =0V for 2 dfg-:fal mverter find. the average
dgﬂam;c.fﬁ.wer of the ?a‘t‘: with the foad C, aufé{_af, the clock rafe

£, (5%)

2_ Fnr the E;I"‘L'.u..‘lf .:I'L F-!‘g P2 ’ /"‘ufnﬁ"'i?.ﬂ'),uf,f’pz = Eﬂ/UA/Vi J‘I’El': i V ,
L=iopm, Neglect the channel ~length modulation effect Fina the

fabeled \/ and T , and show That the Hransi sTors are apera‘tfng n

the saturakion regian, (10 75 )
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4 For the ampl:fter Shown Frg . P4, Find the Unff:aae 930 A‘UFF: ?
(10% )
5. Use the aﬂomxmaﬁ wethod based. on the fitter effect Z.';. {‘md_ the

vppet 3. 4B :?r‘fgﬂ-l-rhfﬁ of the MFffiﬂf_Ef' Shﬂ‘ﬂfﬂ n Frg P‘B'; mﬁn."e
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o re Some useful formalas for NM[}EFET
‘it“”h'“ In= % Kﬂ {I') (Vq{vf) U*?“Vﬂs);
Gon = r,ff%—)gvﬁ;vth (2060 1,]%

= Va/Tp ., Kk=1/Vy .

Triode : Lp= k;('wﬁ') [Wﬁg" V.oV - T:-Ii' V,; ]
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6. For the circuit in Fig.P6, what feedback type it is ? For Rid= 100 kO,
u=10% 1= 1 k, Rs= 10 k2, R;=2 kQ » find the close-foop gain A,
input resistance Rin, and output resistance Rout. {(16%)

7. For the circuit in Fig.P7, sketch the transfer curve (Vo vs Vi)
(Remember to label some key values in the curve) (12%)
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8. A typical scheme of dual-slope analog-to-digital converter (ADC) is
shown in Fig.P8. Identify the slopes S1 and S2 of V; to be fixed or
variable. Also are the intervals of T1 and T2 fixed or variable ? For the
S1, S2, T1, and T2, which one (or ones) can be interpreted to the analog
signal Vi ? (10%) 28 -

9. {a) Sketch the cross section figure of Erase-Programmable Read-Only—
Memory (EPROM) (b) Sketch the transfer curves of it before and after
data programming, then define the sense voltage point. (12%)




